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. Express yasa Fourier series upto 2" harmonics given the following values. [8] | €Or | L3
X 0 1 2 3 4 5
y 4 8 15 7 6 2 N
2. Using Newton’s divided difference formula find f(3) and f(5) from the [7]] €06 | L3
following data.
) 2 4 9 10
y 4 56 711 980
- CO6 | 13
3. Evaluate I 5 using Simpson’s one third rule by taking seven ordinates and [7]
hence ﬁnd loge 2.
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X 0 1 2 3 4 5
y 4 8 15 7 6 2 e
2. Using Newton’s divided difference formula find f(3) and f(5) from the [7]] €06 | L3
following data.
X 2 4 9 10
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Fit an interpolating polynomial of the form x=f(y) by using Lagrange’s inverse
interpolation formula and hence find x at y=5 given

X 2 10 17
y 1 3 4
From the following table find the number of students who obtained
i)less than 45 marks ii)less than 75 marks.

Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students | 31 42 51 35 3]

i xin 0<x <
Obtain the half range Fourier sine series of f (x)z

N | =

xX——in —<x<1
4 2

Obtain the Fourier series expansion of  f(x) =x(27r—x) in0<x<2m. Hence

2
deduce that T—Z:i—_]u.:r 1
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Fit an interpolating polynomial of the form x=f(y) by using Lagrange’s inverse
interpolation formula and hence find x at y=5 given

X 2 10 17
y l 3 4

From the following table find the number of students who obtained
i)less than 45 marks ii)less than 75 marks.

Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students | 31 42 51 33 31
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Obtain the half range Fourier sine series of f(x)=
x——in —<x<1
4 2

Obtain the Fourier series expansion of  f(x) =x(27r—x) in 0<x<2m. Hence
2
deduce tha zr—:L27ﬁ12—+i2—...
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